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20% of 3000
35% of 320
20% of 1200
45% x 460

Jack has £400

He spends 35% of his money on a new bike.

How much does Jack spend on his new bike?

Liam did a survey of 55 people to see how many were left-handed.
Liam says, “The results show that exactly 10% of the people in the survey are left-handed.’
Explain why Liam cannot be correct.

Grace made purple paint by mixing three colours.
50% was red
30% was blue
And the rest was white.

What percentage of the purple paint was white?

200 children went on holiday.
10% of the children went to Wales.
25% of the children went to Scotland.

How many more children went to Scotland than went to Wales?

28% x 650
99% x 200
15% of 460
12% of 800
36% of 450
51% of 900
72 % of 2000



